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p Series:[ 1. 8. 9. 4. 14.], erreur Mk 0 = 441.41505954316e0mp Series:[ 1. 8. 9. 4. 17.], erreur Mk 1 = 442.45877075
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mp Series : [ 1. 8. 9. 4. 3.], erreur Mk 2 = 462.279359196 _Temp Series:[ 1. 8. 9. 4. 18.], erreur Mk 3 = 465.657762343
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p Series:[ 1. 8. 9. 4. 16.], erreur Mk 4 = 469.72259435110T0emp Series: [ 1. 8. 9. 4. 6.], erreur Mk 5 = 480.078211937
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p Series:[ 1. 8. 9. 4. 15.], erreur Mk 6 = 485.14416895710T0emp Series:[ 1. 8. 9. 4. 5.], erreur Mk 7 = 496.224578018

Te?wp ISeries :I [ 1. 8 ?4. 19.I], erreLIJr Mk 8 = 497.I830573511 Temp ISeries I [ 1. 8 ?4. 11.I], EITELIJF Mk 9 = 499.I299154687

100 ! ! ! ! ! ! ! ! 100 ! ! ! 1 1 1 1 1

80 801

60 60} >

40} 401

20} 20—
o= I f i i i ; } o= I f i i i " l

A0 1090000000, 60% o0 1o A0 1090800000, 60% o0 1o

6@9&‘ O “\a(‘\‘ ‘((\3(6 @ ‘\\)\\‘639“ oV 6@9&‘ oo :\a(\“ '((\3(6 @ \0\\‘669&‘ oV

Dates Dates



